Problem with currency is a vital factor in the continuing onslaught of wrong against the right.
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Interest seeking and exploitative forces of economic enslavement have established a firm grip over the resources of the world and their control and dominance has been consistently increasing. Growing unemployment, disparity of income and wealth, poverty and deprivation, fraud and corruption, marginalization of justice and righteousness and accompanying loss of human freedom clearly shows that antihuman forces has usurped power and control over the globe and are trying the enslave the human race.


This enslavement differs from enslavement of the bygone era in that the slave may not be aware of his state of slavery. The slave continues to work efficiently thinking that he/she is working for himself/herself or for his/her country or community. However, most of the fruits of his/her labour get transferred to the slave-masters through the fraudulent economic procedures leaving for him/her only what is considered essential for his/her sustenance. This is what constitutes the so-called sustainable society. This, enslavement is being achieved mainly by use of fraudulent economic procedures and use of political and military measures is normally restricted to the creation of suitable economic environment for the fraudulent economic procedures to work smoothly. Foremost among the economic tools being used is interest.  Next most important tool is fiat money (its depreciation). Interest and inflation are necessary and sufficient to ensure dominance of each other. World bank and IMF constitute the major arms being used to achieve this target of economic enslavement. Patent is also one of the major economic tools being used to achieve this sinister design. World Trade Organisation is the arm being used to convert the international trade into a major tool of economic enslavement. Information technology is being extensively used to destroy morality presumably because people who are morally upright tend to resist enslavement. Democracy is being used as a means of installing governments controlled by vested interests that can be easily corrupted or forced to follow inflationary monetary policy, to borrow on interest, to agree to unjust and exploitative terms of trade and commerce, to follow anti-people policies or the policies that weaken the unity and strength of the country, etc. All these are intended to push the under developed and developing countries into the debt trap and then to enslave them.  

Every major religion as well as socialism condemns interest and yet it has become the most dominant economic procedure. Contrary to our belief we live in a period of total misinformation and we are fed with lies upon lies that has confused us and we have failed to see the truth. In order to see the reality as it is, we shall review our understanding of mechanism of interest and fiat money.

Exploitation and Fraud are integral parts of the system of interest 

Amount payable in lieu of interest based finance doubles and redoubles after a period and this redoubling continue. Suppose rate of interest is 10.41% then amount payable doubles and redoubles every 7 years. In 50 years it becomes 140 times and after 100 and 150 years it becomes 19991 and 2826581 times respectively. The amount that is returned by previous borrowers is again lent on interest to new borrowers and therefore this process doubling of dues continues despite the fact that many borrowers are able to repay the loan within a few years. Naturally things grow and then decay and there is nothing real that can continue to grow in this exponential pattern. Clearly debts created by interest-based finance can never be cleared. Number of people below line of poverty has been increasing and many poor countries have already been trapped by the debt created by interest-based finance. It follows that interest is a mechanism to enslave the people and any law that enforces its payment is unjust and inhuman.
Further since it is not possible for any economy to continue to grow like this, it will have to go on reducing its yardstick of measurement of wealth i.e., currency. Considering that manipulation of measure corrupts the process of measurement, reduction in the quantity of wealth expressed by the yardstick of measurement is a clear case of fraud. Considering that wealth is most widely sought after, it is clear that manipulation of its unit represents a massive fraud. Considering that the system of interest cannot survive unless currency is consistently depreciated (i.e., quantity of wealth expressed by currency is reduced) it is clear that fraud is an integral part of the system of interest.

Further since currency is normally used as unit of account, its manipulation corrupts the accounting process and thus, incorporates element of fraud in all our dealings. It confounds truth with falsehood and masses fail to distinguish between right and wrong. Further it makes non-exploitative and interest free modes of finance unviable. All these add to fraud corruption and deception.

Interest continues to suck the earning and wealth of the poor and transfer it to the rich. Inflation goes on reducing the worth of the savings of the poor. Inflation allows the prices of the products of the organized sector to be increased faster than increase in the prices of the products of the unorganised sector. It is why prices of commodities that poor people produce and sell have risen much less than the prices of the finished products that organized sector owned by the rich produces. Thus, every time poor people sell something to buy something from rich people they get less and overtime it represents a colossal loss. Similarly, prices of commodities that poor countries export have risen much less than the prices of the finished products that rich countries export. Thus every time poor country exports something to import something from rich country they get less and overtime it represents a colossal loss. Rich lend capital on interest and usurp most of the surplus produced by the economy, even if the enterprise where the capital is invested make losses the lenders are assured of payment of not only the capital but also the interest. Resultant increase in disparity goes on reducing the proportion of people who own enough resources to employ themselves. As the people get poorer they are not able to provide collateral required for availing interest-based finance. In the economy based on interest any economic activity that is not able to produce surplus at a rate higher than rate of interest cannot be run as it results in loss to its owner (entrepreneur). Resources that cannot be employed so as produce rate of return significantly higher than rate of interest remain unemployed (as no entrepreneur will like to set up any business unless he/she expects to earn sufficient profit over and above the interest that has to be paid). In case of businesses that provide employment to its owner and his/her dependants the businesses are not shut off even if these make some losses, because the owner considers loss of wages being earned in case he/she shuts off the business.
 However, no bank or financial institution finances economic activities that are not expected to produce surplus at a rate that exceeds rate of interest. Clearly mechanism of interest and growing disparity of income and wealth produced by it is responsible for growing unemployment. Further capitalism driven by interest compels labour to accept lower than just wages as labour do not have any other alternative to sustain themselves. 

Economy that allows interest will ever remain full with fraud and corruption, injustice, exploitation and oppression. Greedy capitalists are thus using mechanism of interest as a tool to enslave the humanity. Thus, interest can’t coexist with human dignity and freedom and justice. [Freedom is essential, if man is to be held responsible before his lord (god). It is why Islam that stands for justice and welfare of the people, has declared war against the interest]. Interest seeking greedy capitalists who are now controlling economic, political and military power of the world are trying to enslave the world and to sustain their dominance and control. They are aware of the fragility of their inhuman designs. They understand that the people are extremely fed up with this system and are frantically searching for alternatives. [Viewed in this perspective the so called war against terror may be war against humanity rather a pre-emptive strike to neutralise the massive response that humanity is likely to generate to break the shackles of enslavement and to dump these anti human forces into the dust bin of the history.]

Money

Free people used gold and silver coins as universal medium of exchange and continued to use these for thousands of years. Gradually these were replaced by paper money firmly linked to gold and silver. Although for most of the purposes these were as good as gold and silver coins and it was easier to transport and store these, people did not accept these and were forced to accept due to fiats issued by the states. Gradually reserve was reduced and thus, states were in no position honour their promise to exchange the paper money with quantity of gold/silver that was promised. Slowly link with gold and silver was completely broken and now we have fiat money that is not linked with any known quantity of wealth. Mainstream economists record these changes as if these were honest efforts to develop the economy and to ensure people’s welfare. However those who critically analyse the factors that lead to these changes and the consequences thereof together with the fact that it is not possible to believe that those who brought these changes were not aware of the consequences are lead to believe that these changes were part of the most sinister long term strategically designed plans to enslave the people. Here we shall restrict ourselves to examine how and why this fiat money is one of the worst antihuman developments in the history of mankind.

Fiat Money

The money we use is the fiat money. It is money only due to fiat (order) issued by government.  It is not the piece of paper that people normally know it to be. This can be easily understood if one looks at the fact that when currency become cheaper paper as well as printing become costlier. It has value because people need money to buy their requirements and they are not allowed to use gold or silver coins or any other real money. It is nothing real but it represents goods and services that it can buy. Strictly speaking it represents a basket of goods and services and it has same market value as the basket of goods and services it represents. Thus, in reality fiat money is a basket of goods and services that it represents. Fiat money of today is not the same as the fiat money of a year or more or less earlier or latter because it is a basket of goods and services that contains different quantity of goods at different times. 50 percent depreciation means the quantity of goods and services contained in the basket is reduced to half the quantity of goods and services it earlier contained. Thus, 10 dollar of today is not same as 10 dollar of yesterday or tomorrow. It applies to rupee, ringit, riyal, euro etc. as well. For example after every five to ten years Indian rupee becomes nearly half of what it really was. Thus, fiat money buys lesser and lesser quantities of goods and services because the quantity of goods and services that it is, is reduced with time. 

Real money is a definite quantity of some valuable commodity normally gold and silver, well known to the people and that allows the people to participate actively in the process of price determination by the market. Fiat money is complex money; people hardly understand what it is and that allows the rich owners of the organised sector to manipulate market prices to serve their vested interests. 

To understand it more clearly consider a gold coin. Its value can fall for two reasons. Firstly gold may become cheaper with respect to other goods and secondly part of the gold may be cut off making it smaller in weight. However, if we consider value of gold coin with respect to gold it can fall only if some part of gold is cut and removed (from the coin). Price of any real commodity is constant with respect to itself and it can become cheap only if part of it is removed (uniform quality is assumed). Thus value of currency falls only because quantity of goods and services that it is, is reduced. 1kg of copper buys half the quantity of goods that 2kg buys. It applies to everything. It has nothing to do with supply and demand. Currency is a basket of goods and services and it become cheaper with respect to goods and services only because the quantity of goods and services contained in the basket is reduced. It also has nothing to do with supply and demand. It is explained further in the following paragraphs.

Depreciation of Currency 

The artificial reduction in the quantity of goods represented by currency leads to corresponding fall in purchasing power of currency and thus currency that is measure of value/wealth become smaller. For shake of clarity, we shall restrict the use of the term, ‘depreciation of currency to this artificial reduction in the quantity of goods represented by currency. Clearly real currency cannot be depreciated except by reducing its content but that will be clearly understood by people and therefore cannot form basis for massive fraud and manipulation.
Compared to market value the cost of production of fiat money is almost nil. For example cost of production of a thousand rupee note is much less than a tenth of a rupee. Therefore government can increase money supply almost without limit. Further the banks that are a vital part of the system of interest create more than 90% of money supply almost free of cost. Supply of real money cannot be manipulated freely and it involves prohibitive cost. However, it is to be noted that it is improper and misleading to talk of supply and demand in case of fiat money. As a matter of fact total supply of money represent the number of shares in that national out put is divided. Currency is equal to one share. To double the supply of money is to double the number of shares and therefore each share i.e., currency becomes halved. These are the important differences between these two types of money. Due to these differences fiat money is the worst antihuman innovation in the history of the human race while real money is a very important facilitator of justice.

How Currency Depreciates? An Illustration:

To understand this, suppose that in a country a store full of rice is divided in number of shares ordained by its head of state and such a share is used as measure of mass/weight. Now if the head goes on increasing the number of shares every month the measure of mass will continue to become smaller every month. Similarly when the supply of fiat money is increased, the quantity of goods and services it represent falls and it is the depreciation of currency. 

A simplified view of depreciation:

Suppose gold is the only commodity that is traded in a country. X is its currency. Let the total quantity of gold that was traded today be 100,000 gm. and assume that it was traded for 100,000 X. Clearly today X represents exactly one gm. of gold. Now suppose that after 6 years 200,000gm.of gold is traded for 400,000X. Clearly then X will represent half a gm of gold i.e., exactly half the quantity it is representing today. This is what the depreciation of currency means. In this case depreciation of currency has reduced the quantity of gold that X represented to exactly half within the said 6 years. Clearly in this case depreciation of currency is equivalent to the reduction in the quantity of gold that it represented. Since within said 6 years the quantity represented had been reduced to half, a loan of 10 X of today will be equivalent to a loan of 20 X of 6 years latter and a capital of 10 X of today will be equivalent to a capital of 20 X of 6 years latter. 

A kg is same as a thousand gm. Suppose, that the government orders that from tomorrow kg will equal 500 gm only. Following adaptation of the said kg (note that in this case the yard stick of measurement of wealth is changed). The weight of various goods will seem to become double their previous weight. Assuming that there in no real change in price, commodities will seem to sell at half their previous prices although in reality there is no change in price. Similarly depreciation of currency is a case of change of scale of measurement of wealth. There is no change in price level and apparent increase in prices is an illusion created by depreciation of currency. Thus, currency is depreciated and people who do not understand the under lying fraud wrongly feel that prices are rising. They are deceived. Thus depreciation of currency amount to a reduction in the yardstick of measurement or scale that is used to measure wealth. It is therefore a grave crime a clear case of fraud. Clearly a reduction of measure has to be compensated by ensuring equality of quantity in real terms. 

Clearly, in the scenario considered above insisting on receiving double the amount lent if the dues are not cleared for six years is what justice demands and not paying double is injustice. Clearly in such a scenario what is normally considered to be involving interest may be nearer to justice than what is considered to be free from interest. Masses can hardly understand what is just and what is unjust in such a fraudulent environment. 

System of interest cannot exist unless currency is depreciated. It is not possible to depreciate real money however; fiat money can be depreciated without limit. Clearly, system of interest as well as fiat money are responsible for the massive, social, political and moral problems that are driving our civilization to the brink of its annihilation. We have briefly discussed some of these aspects and now we will consider some others.

Ar-Riba

According to the holy Qur’an, Ahadith and the practices of Ahd-e-Risalat (period of prophet), Riba relates to the excess of quantity only.
 Nowadays, interest it is generally used for excess in nominal terms. This nominal interest with respect to a non-real depreciating unit of measurement is very different from Ar-Riba (the interest during the period of prophet). Ar-Riba may be defined as an excess (in terms of quantity) over the principal lent. Thus,  correction will be applied against any manipulation (in terms of quantity) of measure (yardstick of measurement).   No correction is to be applied for change in market value of commodity or group of commodities on that the measure is based and only changes in the quantity of goods and services that the measure/currency is or that it represents is to be considered. Thus, Ar-Riba is excess in terms of weight/volume and neither nominal interest nor real interest is same as Riba..
Considering that the quantity of goods and services that currency is, is being reduced with time, a currency of 10 of today may be equal to (Misl) [in terms of weight of goods and services that it is] currency of nominal value 20 after say 8 years (depending upon rate of inflation). Now let us assume that it is known that quantity of goods and services that currency is has fallen to exactly half the quantity it used to be eight years earlier. Further suppose that Y has borrowed currency of nominal amount100. Now, considering that Ar-Riba is an excess in terms of weight or measure there will be no Riba under the provisions of Shariah if X asks Y to pay twice the amount i.e., 200 in nominal terms. 

Exploitation Caused Due to Dominance of Interest 

Interest is the mother of economic evils and it is an important cause of many social evils. This discussion will concern some of the poorly understood mechanisms by that it deprives the economy of all blessings. 

(i) As discussed prevailing interest rate acts as shut-off rate of return making all activities less profitable than it, nonviable that reduces investment, out-put and employment. Further it raises rate of return for investment to nearly twice
 the prevailing interest rate that further reduces out-put and employment. 

Interest is the root cause of shortage of supply, unemployment, inflation and exploitation and growing disparity of income and wealth. The following example clearly demonstrates it:

Suppose that our cement factories are producing at 70% of their capacity. Now if their production is raised to 85% of capacity then the cement price will fall. Suppose that price per bag prior to and after increase in production are rupees 110 and 100 respectively. Let cost of production per bag excluding interest paid on capital borrowed prior to and after the increase in production be 100 and rupees 95 respectively. Let interest payable per bag be rupees8 and 7 respectfully. Note that prior to increase in production the cement factories were having a net profit of rupees2 per bag but when the production is raised there is net loss of rupees 2 per bag. This loss is due to the interest as in the absence of interest the factories would have been making a profit of rupees5 per bag even after increasing production. Clearly, it is due to interest that the company will not increase production. Thus, it is due to interest, that most of our industries produce for below their capacity and employ lesser number of personnel. Due to interest entrepreneurs can’t get capital for investment unless they are willing to pay the prevailing rate of interest. Therefore, there is no investment in a business that is not expected to produce profits much higher than the prevailing interest rate. 

The reduced employment produces an army of unemployed workers that allows the owners to compel the labour to accept lower wages. The falling investment reduces demand of raw materials that compels the suppliers of raw material to accept lower prices. The reduced out-put allows the industrial products and services to be over priced. Each of these contributes to severe exploitation of the have-nots and the labour. Further the reduced out-put harms every one. 

(ii) It is well known that interest has to be paid by every one, as it is included as a cost in the price of the products. It is well known. It forms 40 to 50 percent of the cost in most of the countries. Entrepreneur–creditor combine has no right to force everyone to pay interest that they mutually agree. Therefore it ought to be strictly banned. 

Massive exploitation caused by the dominance of interest causes disparity to grow. Gradually control over most of the resources passes to the greedy capitalist that raises their exploitative potential. The exploiters use their economic power to marginalize, subjugate and eliminate the righteous with intention to usurp total control over the resources. 

(iii) The growing disparity of income and wealth and weakening of the hands of the righteous add to increasing fraud and corruption and deception. Reduced purchasing power of the masses leads to misallocation of the resources that results in total denial of the claim of the have-nots over major parts of the resources of the community. The resulting state of helplessness of the masses compels them to tolerate unjust and inhuman treatment and leads to their subjugation before the exploiters. Thus the resources are utilised to satisfy wasteful and even immoral demands of the exploiters while the necessities and needs of the masses remain unsatisfied.

(iv) It is the most important cause of inflation that is no less exploitative and oppressive than interest (to be discussed). Increase in the rate of interest results in corresponding increase in the rate of inflation. Thus interest is responsible even for the exploitation and oppression caused by inflation. 

(v) It kills the sprit of mutual help, nurtures selfishness, curtails availability of interest free loan, and condemns man to the slavery of man and nations to the slavery of nations. It is antihuman and destroys morality. It is most important cause of growing fraud and corruption. All these aggravate the level of exploitation and oppression of the have-nots.

1.3. A Mechanism of Exploitation of The Labour and The Masses 

In the capitalist system the entrepreneurs are considered as the owners and this result in gross under statement of the rate of return of the economic activities. For example if the actual rate of return of the activity set up on capital borrowed on 12% interest is 13%, then due to adoptation of this fraudulent definition of ownership the rate of return will be shown as just 1%. By thus showing the rate of return to be much less than what it really is, the entrepreneurs are able to compel the labour to accept lower wages and similarly the suppliers of raw materials are also persuaded and compelled to accept lower prices. Further the entrepreneurs raise the price of their product on the ground of very poor profit margin.

In the system of interest risk of businesses is born by the entrepreneurs and therefore entrepreneur will normally not take up any businesses that is not expected to produce a rate of return that is at least twice the rate of interest. Further normally, it allows entrepreneurs to raise rate of return to twice the prevailing interest rate as no investment can be made in activities having lesser rate of return. Entrepreneurs can do this by increasing the price of their products or by reducing the labour wages or by causing the raw material prices to fall or by using some combination of these. Clearly all this involves exploitation of the labour and the masses and it is due to prevalence of interest.

Vested interests try to justify interest as a fixed charge for the capital invested like the labour wages. However, that only reflects the anti human character of the proponents of interest. Labour are entitled to a fixed minimum wage as, being members of the human race they are entitled to live with dignity and their necessities and needs must be satisfied by those who employ them. Question of necessities and needs is irrelevant in case of capital and it has no such rights.  However in case the businesses makes profit capital may share it with the entrepreneur. 

 Inflation and Exploitation of the poor

Inflation is the worst tool of injustice, exploitation and oppression the humanity ever invented. Many and varied are the ways in that it harms the poor and the oppressed. Some of the mechanisms by that inflation harms the have-nots are discussed below. 

(i) Prior to 1920-30 the prices as well as labour wages were more or less fixed and the masses actively participated in the market mechanism of price determination. Any effort by industry/commerce to increase the price of the products of the organised sector or to lower the labour wages or the prices of raw materials was strongly resisted by the have-nots. The massive response it used to generate prevented the owners of the organised sector from indulging in injustice and exploitation. Prevalence of depreciating fiat money has created a new situation where the prices keep increasing and masses fail to comprehend and organise a joint response when the prices of the products and services of the organised sector are raised more than the increase in the prices in the products and services of the unorganised sector that results in the massive transfer of the earnings and the wealth of the have-nots to the rich. Fall in the prices of the raw materials and primary articles with respect to the level of the prices of the industrial products causes severe exploitation of the poor countries. Because most of the export of under developed and developing countries consist of primary articles while industrial products are exported by developed countries.

(ii) It allows the developed and powerful economies to exploit the under developed and developing economies. It is briefly discussed below:

Currencies of the developed economies have higher stability than the currencies of the under developed and the developing economies and command worldwide acceptance and recognition. For example everyone likes to have USA’s dollars but no one not even Indians prefer to have Indian currency. This itself causes massive loss to the developing and the under developed economies. For example: let us assume that the USA’s dollars held by Indian government and the Indians amount to 100 billion. Clearly India and Indians can get these dollars only by selling off some goods or services or as a lone. In the former case Indians are deprived of the resources and in the latter case they have to pay interest on it. For simplicity let us assume that it is borrowed on interest and that the rate of interest is 5 % (a lower rate of interest is being considered as the reserve earns some interest).

Consider the USA’s cost of currency that India has borrowed from it. It is almost nil being the cost of printing these dollars. Now, consider what USA gains due to Indians holding these dollars. It equals 5 billion dollars being the interest extracted every year. Clearly India cannot pay it by printing dollars and therefore, India has to transfer 5 billion dollar worth of its scares resources to USA (every year) as cost of holding these dollars. In absence of the depreciating currency there was no question of any preference for Indians for the currency of USA. Therefore, clearly this loss is directly due to prevalence of the depreciating currencies.

Further in the absence of inflation, the producers will not be able to exploit the masses and the labour and therefore, average rate of return of the economic activities will be lower than the average rate of return in the inflationary situation. Lower rate of return of the economic activities implies lower interest rates as well as lower cost of technology transfer. The under developed and the developing economies buy capital as well as technology from the developed economies and therefore, this increases the rate of transfer of earnings and wealth of the masses of the under developed and developing countries to the developed countries. 

Majority of the have-nots live in developing and under developed countries and exploitation of their economies amounts to their exploitation. It is really unfortunate that the so-called champions of human right are the real exploiters of the have-nots. Is it not known to them that exploitation of a country directly leads to severe exploitation of its have-nots? Clearly they know it well and yet try to compel the under developed and the developing economies to accept highly exploitative terms of trade and commerce. Does not it expose their hypocrisy?

(iii) It eats away small- small savings of the poor.
 Major part of the earnings of the poor is consumed by their immediate requirements and therefore, to meet their heavier expenses they are required to save over a long period of time. For example: they save over 15-20 years for owning a house, for 5 to 10 years for marriage, for 10-15 years for marriage of their children. Many have to save for 5 years or more for buying a refrigerator. Meanwhile inflation goes on eating away their savings. For example, if the average rate of inflation equals 15%, the true worth of the savings gets reduced to half every 5 years. That is if a person spends his/her savings 5 years after it was saved it buys half of the goods it would have bought when it was saved. Even if the person keeps it in the savings account and accepts the interest true worth of the savings continues to fall.
 

Suppose Umar wants to buy a two-bed room flat presently costing 6,00,000s and he has already saved 5,00,000s. Suppose working harder he saves 1,00,000 this year. Then he will have 6,00,000s but he will not be able to buy the flat because the flat will then cost around 7,00,000s. Suppose that in the next year again he saves 1,00,000. Even then he will not be able to buy the flat because then the flat will be costing more than 8,00,000s. In the process he continues to save and inflation goes on eating away his savings. 

Those who deal in interest may partially reduce the losses for example, either by buying the house by supplementing the savings with borrowings on interest that are freely available or by partially reducing the effect of depreciation by keeping the savings in the time deposit scheme. However, finally the masses have to bear its burden as discussed in previous footnote. 

(iv) It reduces the availability of interest free loans to almost nil.  This results in severe loss to the have-nots as they pay higher interest when they borrow but receive little or no interest when they lend.
 If someone tries to avoid interest bearing loans, he/she is required to save over long period of time and meanwhile inflation eats away most of their savings. Inflation has killed the sprit of mutual help and that aggravates the exploitative potential of the capitalist creditors. 

(v) It assists the greedy capitalists and their agents in divesting the masses of their control over the resources. Due to gross disparity the masses have lost the capacity to derive proper benefits from the resources owned by them. The rate of return of the resources owned by the masses stands further reduced due to price differential created by inflation. Additionally the masses are not fully aware of the extent of depreciation and know currency to be worth more than what it is. Accordingly they consider the worth of the resources owned by them to be less than worth what they are. The rich are aware of the real worth of those resources. Thus when the poor are offered the right prices they wrongly feel that it is more and therefore, get allured into selling off the resources that are under their control. The value free advertising produces a highly alluring picture of the industrial products and services that tempts the masses to buy them. The temptation of higher prices and strong desire to own the products made alluring due to the value free advertising prompt the masses to sell off the resources under their control to buy those products. 

(vii) Inflation is fraud and the worst tool of injustice, exploitation and oppression and it create massive fraud and corruption and makes it impossible to do justice. It weakens the righteous and strengthens the grip of the greedy capitalists and their agents. It supports the institutions based on injustice and fraud and tends to demolish the institutions based on equity and justice. Clearly all these are very harmful to the poor and the weak.

The transfer of earning and wealth of the poor to the rich produced by inflation results in increasing poverty and growing disparity. When rate of inflation increases masses become poorer. Even USA the most powerful capitalist economy is not able to protect its masses. Inflation Report by Michael Hodges shows that
 in USA
‘For the period 1952-1965 the inflation rate averaged about 1% per year. This low-inflation period produced strong inflation-adjusted family income growth. 

In the mid-1960's inflation rates began a dramatic rise, for the next 2 decades. Once inflation rates exceeded about 3% real family incomes and savings rates ceased to grow.’

Thus, increase in the rate of inflation is invariably accompanied by increase in poverty as well as disparity. Further even rate of unemployment increases in the Long run. 
 Thus, even under capitalism inflation is extremely harmful to the poor and it does not help them to the least. 

Mechanism of Exploitation of the Masses due to Inflation 

Inflation complicates the process of price determination by the market and masses are not able to actively participate in this process that result in massive exploitation. Additional causes that lead to increased level of exploitation are discussed below.

The industrial/commercial activities with rate of return less than prevailing rate of interest are threatened with immediate shut down. This causes the owners of these enterprises to overprice their product and services. Further, pretending to check unemployment the government causes/allows the money supply to increase that increases rate of inflation, As soon as the money supply is relaxed the organised sector increases the cost of its product and services at correspondingly increase price level. The masses have to buy the industrial product and services at the increased prices but can not increase the price of their products (mainly raw materials) and services because:

(1) They are not well informed 

(2) They are not organised 

(3) Their requirements are of urgent and essential nature they have to buy what they have to and therefore they have to sell what they have. There is little or no choice for them because shopkeeper and traders tend to deny any increase in price of their product and services and they are thus compelled to sell their product and services at old price level. The seasonal variation in the price of the agricultural produce year after year confirms that this mechanism is not only operational but also very effective. 

When the inflation continues for long the price of the product of the unorganised sector does also increase but there is large time lag and the price in organised sector including labour wages lag behind.  Suppose that the prices of products of unorganised sector increase 8 fold, labour wage (average) increase 9 fold and the prices of the products of organised sector increase 10 fold. Now, masses will have to sell 25% more of their products to buy previous quantity of the goods produced by the organised sector. Labour will spend higher proportion of their wage to buy products of the organised sector and will have to work more to buy same quantity of goods. This process is repetitive, leads to massive exploitation and is one of the most important causes of growing disparity of income and wealth. We have seen that inflation is created to reduce the burden of interest from the entrepreneurs and this process transfers a major part of this burden to the masses.
Conclusion

The entrepreneurs and creditors agree to interest on their free will but then entrepreneurs are known to frequently fail to clear their dues inflated by interest. Currency must not be depreciated as, it makes masses and the labour pay major part of the said interest. However, it is found to jeopardise the economy and therefore, social interest demands that creditors and entrepreneurs should not be allowed to enter in interest based contract. How can the grant of freedom to creditors and entrepreneurs to enter in interest-based contract be justified when it leads to all round fraud and corruption and massive poverty and deprivation. Use of interest, as a basis of sharing of profits between the creditors and the entrepreneurs is unjust, exploitative and oppressive.
Further unfettered right to the rich to withhold capital deprives the poor of their right to life that is certainly the most fundamental human right. Suppose, the rich decide to shut off all the economic activity, the poor who do not own resources will then have no way left for earning their livelihood. Labour will not be able to sustain themselves unless they accept the wages offered by the owners of economic activities. Thus the system that makes investment subject to the pleasure of the capitalists does not grant the right to live with dignity to its have-nots and compels labour to accept wages offered by owners of economics activities that are normally lower than the just wages. In the capitalist system, investment is subject to the pleasure of the capitalist creditors. Massive unemployment, exploitation, gross violation of human rights and growing disparity of income and wealth produced by inflationary capitalism is well known. 

The system of interest produces unemployment, poverty and deprivation, disparity of income and wealth as well as marginalization of the righteous. Reduced purchasing power of the masses lead to misallocation of the resources that results in the total denial of the right of the have-nots in the major parts of the resources of the community. The resulting state of helplessness of the masses compels them to tolerate subhuman treatment and leads to their subjugation. The system of interest is a system of fraud sustained by depreciation of fiat money and it is being used as tools to enslave the world. Economic progress does not depend upon interest and banning of interest is essential for establishment of justice.

Hifzur Rab


Allahabad

� Suppose, my son is unemployed. Suppose that I have capital required to buy a machine for 100,000/- that my son can operate. Suppose that I pay him Rs. 10000 p.m. that being the salary for the job in the organised sector. Suppose gross yearly product is 130,000. Salary paid is 120,000. depreciation 20,000, loss of interest 10,000 (rate of interest  10%).  Then decision to buy the machine results in loss of 20,000/-.  And yet I will prefer to buy the machine because, otherwise my son is not likely to get any employment and that will lower family income by 100,000/-. Thus, the solution for the problem of unemployment lies in self-investment where owner invests his own capital to employ himself/his relations. Extreme disparity created by the system of interest, reduces the proportion of people who own enough resources to employ themselves and their dependants to almost nil and causes unemployment.


�  Dinar is same as 4.25 gm. of gold and Dirham is same as 2.975 gm. of silver, therefore, these were known quantities of materials. Excess in the number of Dinars was same as excess amount of gold and excess in number of Dirhams was same as excess in amount of silver.


� Since the risk is born by the entrepreneurs, it is reasonable to assume that on average entrepreneurs do not take up any business that is not expected to produce a rate of return that is at least twice the rate of interest that they will have to pay to the creditors even if there is loss. 


� It may be noted that confistication of savings by inflation is well known. For example: Alan Greenspan-governor of American Federal Reserve said, ‘"In the absence of the gold standard, there is no way to protect savings from confiscation through inflation. There is no safe store of value." http://mwhodges.home.attt.net/links 


� Even keeping the savings in the time deposits do not help because depreciation causes the money to go on loosing its worth; whosoever owns it bears the loss. If people start depositing most of their savings in the time deposit schemes, the cost of deposits for the banks will rise and since bank will not lower its profit margin the lending rate will rise. Finally the entrepreneurs will charge this increased interest back to the masses in form of increased prices of their products and services.


� Some governments make some cheap credit (loans bearing lower interest rates) available to the poor. However, firstly these are not due to capitalism and therefore, capitalism do not deserve any credit for it and secondly a major part of the concessions are eaten away by bribe that they are normally required to give to obtain such concessional loans and in compliance with the legal formalities. 


� ‘Inflation Report’ http://mwhodges.home.att.net/


� May refer to long-term shifts in Phillips curves in any standard text.
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